Algebra | - Third Nine Weeks Review Name

1. What is the value of the expressior ’)v;- CW' 8 whena=64,b=49 andc:=-5?

4\1@_—(—5)4"_ ~8
A(H)- (-8 -1
3-(-35)-8= 8+35-8=43_5<

2. Write an algebraic expression for “3 less than 8 times the cUbe oot of b fo the

fourth power"?
3! -3

3. What is the value of Tif f = 35, r = 25, and h=3 hours in the equation T = f + rh?

T=34+rh
T=35+ 25(3)
T= 35 +15
T =110

4a. What property justifies how the statement 3a + 5q + (2a - 4)is related to

5a + 3a + (2a - 4)? Commutative for

4b.  What property justifies how the statement 3a + 5a + 4 (2a - 4) is related to

3a+5a+8a-16? Distributive ?rc)per}\/

5. Write an expression equrvalenT to ( 4<2)(9x4)

o'."m
l.‘
©x3)* _ (4 (x?) : 1296 % T

6. Simplify ——g = _q___
__._y___j_‘_‘__._ qx XJ ___,.f'—""' p
OWer 10 -power-y mul%pl\lepohen“fs () \4)

dividing powers Subtract exgonents

7. Write an expression whlch is equuvalen’r To (3x3)* (4x3)
3 (x,“B) (4x
ol xB (4% )

-5
Jgdn e
3" Nine Weeks Review Jday ( no NEYJH

Xf® @cm\"@"‘b )
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8. A pump removes water from a swimming pool.

o It takes 90 minutes to empty the pool at a rate of 1,200 L/min. qo(1a60) -IO'&,
e Tt takes 60 minutes to empty the pool at a rate of 1,800 L/min. o(gD0)® 108,605

Is this a direct variation, inverse variation, or neither? Lhverse vAr I'@'Dn
- |08 000
Write an equation to represent the relationship. X\f =|0%, 000 OR. 3 ol
Di :K:-.a-'-og,:q, Trverse, « Xy=l14 or U- K
VorigsTon X g=F varisdiovu® 1 ° 5“7
9. A triangle has a height of 2x and a base of 5x + 1. What is the area of the triangle?
A= bh
A= L@)(ED
j*:'%(Bi%4)
Az 5x2+%
10. Write an expression which is equivalent to (3x - 8y)(Bx + 6). [HINT: Use FOIL]
Sx
{1521 13x \512__393(,_48
-3 ]|-4ux | -48

11, Simplify (x +3) (2x*-3x+5)
Ax* ~3x 9

W T a2 T 5% | OQX3+3,8‘—-‘{>&+I5
37Lo:x3i74- x A 15 |

——

12.  The graph at the right represents x? - 2x - 3.

Find the following:
x - intercepts(s) ("'}03 ; (in
y - intercepts (o ) “'.3)

7 6.5-4-3-24712/34587¢81

i h A D
[] 1 [
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Algebra | — Third Nine Weeks Review Name
13. Write an equation to represent the pattern in this set of dcn‘a'»‘ [HINT Use
calcula'ror-] Sta.b Edﬁ' t\ -7:; Shzt -7 4 wal.‘ﬁ.t&
Q.= =
{(1,0), (8, 1), (15, 2), (22, 3)) Yysmirb
Ly 4

13. The ordered pairs in the sets shown below are of the form (x, y). Inwhich set of

ordered pairs is y a function of x?

A {(1,2),(2,2).8,2),4.2)
-pu neh on

E’,\fe,r'\i x walue,
has a u.nl'%uc)
3—\{@1!&6

(o X's r‘e—PEAJQ)

15. Which of the following is NOT a function?

B {(L

Domain Range Domain  Range

e

2),(2,3), (3,4, (1, 4)
not o —Fu.hd‘lD'V\-

" rePeaﬂ‘Q

C {4,5), (6 8), (9, 10), (-4, 8)}
JunctHore

D{(B)2), ) 3). (4, 2), (0, 3)}
not & -P{MQJ"\OW

function G;.nc:h on
16. Simplify (5x + 3)(2x2 + 4x -6) 2% v b
5x |10 x> AIOAZ=30%)
3| @118 |

17. Slmphfy(5x2+ 3x - 9) + (3x? - 5x - 10)
Bx* + 3% -9
3x% - 5L -10

ESxa‘-o?x,—HJ

3" Nine Weeks Review

r
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Lire up
Féllow oddihon rules

O %2+ % 2—18% —IF
"like derms.
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18. Determine if each example is a function,

A) B) 0) D) |x |y
-3 |5
4 |6
8 |6
Lunch -P,,mahm 7112 :
not &- e funetisn
X 1Y
@‘ % % )
2 |6
ok & Sunchioro nO'l:.AJ D[ 10
funchior. o 12
net Afurehon

19. Given a domain of {-1,0, 2, 3} what is the range for the function below?

fx)="3x53+3:2+1
2l erter e e (-3 %33 341 [Znd) I GeRPR]
x= C'K Ok Wwork i oncefor ever X.-\M—luﬂ,. \

NGB 1 §lo)=-361 3% FOz ADADTL oy, i

= ~3(-Dy +3+] =1 = -5
z -9 4 L&
= J+3 +1 _ 01‘:"
20. Thl following equation defines a function of x: 52 1, ’|\)—'53§

f(x)=5x-3
If (4, g)is an element of the function, what is the value of g?

$() = 8(4)-3

= 20-3
- I

21, A direct variation passes through the point (3, -6). Name two other points that the
direct variation could pass through.

- _‘-‘LI_ Yoirms
Y * (0,0) (4,-%)
- (, /
V=5 (D (4,
ﬂ = -CQ)C (.‘: ? ‘L*) ((3 f;’%
EQUATOR (3,7¢) -, 2
3 Nine Weeks Review Page 4 0of 13
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22. The force needed to lift an object varies directly with the object's weight. A force

of 0.123 Ib. is needed to lift a weight of 18-lb. How much force would be needed to
lift a weight of 100 Ibs.?

%me’ 0.123 i
werH' ¥ 100

8= &3 1 520,483

23. What are the zeros of a funchon defined by the followin Fg equation?

SET EACH FACTR EQUAL "D ZERD
%".‘:ﬁ"m b T0OEx(x-6)(x v 4) AND Sbwﬁ
Zeros T XD o Azlo=D OR Kid=
eros +(o -y .J.]
Raots = (o —y)

3 0,6,-45
24. What is the value of x if 4(x + 2) = 3( x - 4)?

Y+ R =3%—~2,
3+ 3%
X+8= -l
-8 - ¥

O < a0

25. C=3A+48) Solve for B

BAT3A
_,3'_4 _5?
3A
L2 p
26. If —’)[-x+2)>1757— then -
At e
+d4 -&QE
"\L > 41
O"\(‘s@)(-az)
o X £ -4l
L 4 3

3" Nine Weeks Review
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£ La.
27. The table at the right shows the relationship between the Depth | Temperature
depth and the temperature. Using the datae, write an equation 1 55
that could be used to predict the temperature at any given 2 S0
depth. B . 3 125
sto N=35%+D 4 160
egrt - oK% 5 195
St = 3500 +20 6 230
cale
#1 coleuate entr

27. Name the property for each example below:

A 3+2m=2m+3_cgmmaﬂi\&mdm®

B Ify+4<xandx<40,theny+4<20 transitive, $or \ne%ualj'bies

C 2+3m=2+(1+2)m _Subshtution

D If-4y<20,theny>-5 division P rv\l:er-k'f of ine%ua).d—ras

28  Find the equation of each graph. Write your answer in standard form and slope-

intercept form.
2 T

¥4 T4,

L—’/

s (>

s g 0
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Name

29. Write the equation for each of the lines graphed below. (NOT MULTIPLE CHOICE)

32
-2
-3
-3
=2 b
;g-l-'-\'
30. ’u/hlch of the followin b

Sx*q

- b)WY -
PR R —

A il

Hl12345

5432y
a4
3l

x ‘.,4_.

m‘ I3 bey
=a% +y

st represents the graphed linear tnequall’ry?

A y>x-2  * Solid un®
(elimina©
B vex-2| “AEw)
C yex-2 « Pick-a_test
'poirﬂ' o
D ye¢x-2 discover S\S‘n
oE
(0,2) is *Try Tnequaly,
in )%9 J e%
shaded area-
N Lix-a
g‘:]OwQJ

a=2-2

31. What is the slope of the line? 3x 2y 5 SOL\IE FORY. NUMBEL N FrO8T
D %= OF X is TME SLOPE

N~ = -
~3 Y - 3‘ + =
-y -«--5x.+5 56& 6/2
32. What is ‘rhe slope of each graph'>
A. i B. e
3 34
2 / 7
1
5-4-3-2-%31123 435
21
18
@, o]
.-5]
M= ris¢ )
un & "l Page 7 of 13




Algebra | ~ Third Nine Weeks Review Name

33. What is the slope of the line that passes through the points ("4, *5) and (9, 1)?

Mz Y-y, _ V=5 b

X%, “G-F4) "5
34, What is the equation of the with an x-intercept of 5 and having a slope of %?
(5,0
(Write your equation in slope-intercept form.) 0)

N=mx+b O=_|3_+b
0= 3y(Brb 1 g 1

0= 154 +b sﬁ_ﬂ_‘s_,
35, Whac‘r isj’rhe equation om# tht fine through (3,72) and (6, 4) ?
m:"‘_"_:_%.,_lg,L S‘E)Smbﬂr"\fu wi ¥
w-3 2 Y-y = A%=6) or Sokefor b
5_45;27(—13.: uamﬂ \‘;ﬁm**’b
+Y A B Liken * 34,
N =% -3
36. Describe each of the following slopes:
] 1 3
e : N : Lo
NEE T e T e
! ‘I 1! EIE) g " .. = . _l‘-"i (-
3 1I_ ‘_‘Q.\ . ,* ; ] : ERE l:__.,.l R
A4 \‘ : - - - _“E ] I._? (e Al i_ N
N » : AR HTT
-ty Fad Y T H-B g
neﬂa:}'i\fex undetined ZerD positive

37. A gym offers a trial membership for 3 months. It discounts the regular monthly
fee, 7, by $15. Maverick would like to sign up if the total price of the trial
membership is less than $75. Write an inequality that would help Maverick
determine if he would like to sign up.

3($-15) < 45

_ _ , N #7 SIMULTAMEOUS
38. Find the solution fo the system below: Apps = pLNSMLT > ‘:ﬁ&uAﬂDM SOUVEL
[x=5+2y X =S¥y

o |
3x-2y =9 By "N Must e Avy By=C .

Y=y =5 R S
Y Ea -2 9\ (1,-%2)
3" Nine Weeks Review Page 8 of 13
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Name

39. Bob bought 10 hockey tickets for $64. Adult tickets were $8 each and a child's
ticket was $4each. How many adult tickets did he buy? (Use a system of equations)

one ua:hO‘n.rF)r of +ickets -11

19} 'r' Qost l!-\i (DL‘I i y L
‘ . o aduik tickets :
8 4 6] 4 dhid tckets Tz
40. What is the solution to the system of EETT
equations shown?  (irtersech on ) " R
5 ¥ 4 5 -: § 7
(3,4) A,
- - -

41.  Which is a factor of c2 - 64? dl—ﬂﬁrence Op ua.re,s.

A c+2 B. c+32

(¢+8)(c-8) =88 = -0Y

~8+8=

42. What is fhe\rlaxgg%?fhe graphs shown?

[ ¥

ey

!
T H res Asadind

3" Nine Weeks Review

@ D.c+64

O (624‘@0 —CoLD

L1
y

\\i

& ot aechied
e Y £ 4

—
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43,  Which is the complete factorization of the tri 2-17a+14? .

A, (5a+7)(a+2) @1 —-Wéb@ @)

*p| &)

B. (50'2)(0"7) ___'P'(QJ-'-"'TD _l.._.fm_;m-
—>@) (Ba-7)(a-2) a g )

D. (3a-7)(a-2) (O- '_1_)(0- _'_93 -5,-14]-(q

5 5 "'1:"|0 -1*
44,  Which is a factor of ¢ - 7c + 12? L:?a :D La‘;j ot v
—> @) c-4 B. «c+4 - "Te +1d,

c+3 D. c-7 (Q~33(c-'ﬂ

45,  Which is a factored form of the following expression?

6a? - 10a Look for 0. Common TAZOr
20, is a —Fo.c‘:br of both
A. 2(3a% - 5) (oaa g 104
2a(3a-5)
C.  6a(1-4a) Jo (da ‘“?_52_,— -
D. (3a+2)(2a-6) ThinKR_._Q;@_. Think 104
a0 A4

-
46. Simplify /162 < A 3 E\*\({J{;":K
390 36

47. simplify ¥V128a%b"c’ —{@@@Qm Q \E\;
2300 bo? AT =8aC

Bl 0 | g
()
q b
= Tl |

3" Nine Weeks Review Page 10 of 13
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49. Which are solutions for the following systems of | y
inequalities graphed?  Foint yrust be ) ; 1&:&
inthe | oL B 5 1 5
A (4, 1)N0  B(4,49No B EEE '
(©)-2, 305 (B)(-4. O)¥es '
E (0,-4m0 (® (1,0)yes

6 (1, YN0 (onthe
8

Lire)

50. Name all of the solutions to the following quadratic equation: Factor and. \then L0

e

?lq-fl-l_

3(-ax~15) =0 e ox an eekeﬁahfgdm
5(#-8)3) -0 -0 Graph (1) andfird
51. Wh?cﬁ are solutions for the following system of inequalities: ,(Choose all)
GCraph + look

. R y> —x+1
%Y'Pomhs in [y<_3x_1

O intersechiov. (Use
of.

INE QUALT)
TEN PTS. 10 THE INEQUALITIES.,
A (1,00 @)X3.5 ¢ (2,-2) D34 ©rd0)

ND NES MO NO YES
(ONHE
LIVE)
52. What is the product of 2x2(5x4 - ?lxz +5)?
DISTRIBUTHE ~ AR i
PROPERTY 2

6

5 |

53. The equation for the line y = —gx + 2 is shown to the right. ;
(A) Write an equation of a line that would be perpendicular 2

to the line graphed. 2 S ,1 \ 3
?rodud'o('\olopcsib" \133_ 6 -5 -4 -3 -2 -3 | 12N

fnega:H ve reu'.p'omb L]

— (B) Write an equation for a line that would be parallel to ’; i
T e et ashrent y-inkreept) “

3" Nine Weeks Review 8 = - Qé +5 Page 11 of 13
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Name

Directions: Click on the boxes containing the terms of the solution.

Line Up Li¥e Terms. C

54. Simplify the expression below.

Uy tOx*+3x—10
~AC+HCTOR -8

e @l 5igns of Secondpoly nomizl. Folow

tore rules.

(4x3 + 3x — 10) fﬁﬁ + 5!2@ 8)

A+ O+ - 13

63 2x3

8x2

2

5x2

3x | | -2

Directions: Select one box from each column to represent your answer .

55. When x >0, y >0, and z >0, which expression is equivalent to \/ 250x12y725 in

simplest form?

5 | L&z | oy
3 || Devz]| |[yior
1 || [[eve Jaz |
5 Xyz 2%z
12 X573 JZyz |

3" Nine Weeks Review
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Directions: Click on the box to choose each function you want to select. You must select all correct functions,

@)

g

56. Identify each function that has exactly one zero. 6 RAPH. QOLLY‘IT' NUMBEL

Qf;nxmmm_e_wfsss S
or
e(x) = x2 + 8x +16 ﬂ_ : : h(x) = x2 + 5x - 9 2' F'TDLLCJ'\"ES
f(x) = -3(x - 4) (x + 1) 2. | i) = -4(x+9) 4
g(x)=16x2-25 Z. | | k(x)=x2+5x+QO
Directions: Select all solutions for the quadratic function shown.
57. What are the solutions to the quadratic equation graphed below?
5
7 R .
3
2
e 4 B 1 -1 | -2 -4
® it !
6 54324 f 23 4F
2
b X-intercepts are. the solrtions
5
Directions: Select one box from each column to represent your answer.
AX+reN=C 4x + 5y = 11
58. Solve the system of equations: — 3x—13 _ X Y
APPS 3% y =2 i\f rewriie, —
’&_,;IJSI‘YILT _BKTB _ ‘3 =4l -4
[L\ 5 -1 5
3 (41)
’ 1 1
'. Be Sweto oMoLu 4 4
b4 “Yhe Correct one !
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